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SURSHUW\ WKDW RULJLQDWHV IURP� EXW QHHG QRW UHSODFH� WKH XQGHUO\LQJ

FROODWHUDO�� ,Q DGRSWLQJ WKH UHYLVHG $UWLFOH �� WKH 2KLR *HQHUDO $VVHPEO\

KDV UHFHQWO\ DPHQGHG WKH GHILQLWLRQ RI ³SURFHHGV´ WR DOVR LQFOXGH� LQWHU

DOLD� ³ULJKWV DULVLQJ RXW RI FROODWHUDO´ DQG� ³WR WKH H[WHQW RI WKH YDOXH RI

FROODWHUDO� FODLPV DULVLQJ RXW RI WKH ORVV� QRQFRQIRUPLW\� RU LQWHUIHUHQFH

ZLWK WKH XVH RI� GHIHFWV RU LQIULQJHPHQW RI ULJKWV LQ� RU GDPDJH WR WKH

FROODWHUDO�´ 2KLR5HY�&RGH � ���������$������ +HUH� KRZHYHU�ZHPXVW

DSSO\ WKH IRUPHU YHUVLRQ RI WKH 2KLR FRPPHUFLDO FRGH DQG LWV GHILQLWLRQ

RI SURFHHGV IRXQG DW 2KLR 5HY� &RGH � ��������$�� 6HH2KLR 5HY� &RGH

� ���������&� �QRWLQJ WKDW WKH UHFHQW UHYLVLRQ RI WKH 2KLR VWDWXWH ³GRHV
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7KH FRXUW DOVR QRWHG WKDW WKH WKLUG�SDUW\ GHIHQGDQWV²(QGUHV¶

ODZ\HU DQG WKDW ODZ\HU¶V ILUP²KDG QR ULJKW WR FRQWULEXWLRQ RU
LQGHPQLILFDWLRQ� 7KRXJK WKHVH WKLUG�SDUW\ GHIHQGDQWV MRLQHG 6WDU %DQN
DQG (QGUHV LQ EULHILQJ WKH LVVXH� ZH DJUHH ZLWK WKH 'LVWULFW &RXUW DV WR
WKHLU OHJDO ULJKWV� $SSHOODQWV KDYH QRW H[SODLQHG KRZ WKHVH WKLUG�SDUW\
GHIHQGDQWV DUH OLDEOH WR SODLQWLIIV LQ DQ\ DPRXQW RU RQ DQ\ WKHRU\ JLYLQJ
ULVH WR D FODLP IRU FRQWULEXWLRQ IURP WKH VHWWOLQJ GHIHQGDQWV� 6HH
5HVWDWHPHQW �6HFRQG� RI 7RUWV � ���$��� �³� � � ZKHQ WZR RU PRUH
SHUVRQV EHFRPH OLDEOH LQ WRUW WR WKH VDPH SHUVRQ IRU WKH VDPH KDUP� WKHUH
LV D ULJKW WR FRQWULEXWLRQ DPRQJ WKHP � � �´� �HPSKDVLV DGGHG� �TXRWHG LQ
&HQWHULRU 6HUY� &R� Y� $FPH 6FUDS ,URQ 	 0HWDO &RUS�� ��� )��G ����

��� ��WK &LU� ������� 7KXV� ZH ZLOO FRQVLGHU WKH FODLP WR FRQWULEXWLRQ

RQO\ DV EHWZHHQ WKH VHWWOLQJ DQG QRQ�VHWWOLQJ GHIHQGDQWV� ZKR SRVVLEO\

VKDUH OLDELOLW\ XQGHU (5,6$ IRU WKHLU GHDOLQJV ZLWK WKH SODQ�
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%HFDXVH ZH FRQFOXGH WKDW WKLV VHWWOHPHQW IXQG GRHV QRW IDOO ZLWK WKH

GHILQLWLRQ RI SURFHHGV SURYLGHG DW2KLR5HY�&RGH � ��������$��ZH QHHG
QRW UHDFK WKH TXHVWLRQ RI ZKHWKHU (5,6$¶V OLPLWHG UHFRXUVH SURYLVLRQV
SUHHPSW 2KLR ODZ�
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